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Part - III 

ECONOMICS 

Maximum : 80 Scores 

General Instructions to Candidates : 

Time : 2% Hours 

Cool off time : 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to_ the writing time of 
2Y:i hrs. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 

• Read the questions carefully before answering. 

• All questions are compulsory and only internal choice is allowed. 

• When you select a question, all the sub-questions must be answered from the 
same question itself. 

• Calculations, figures and gfaphs should be shown in the answer sheet itself. 

e '~:.~ssals.m version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except nonprogrammable calculators are not allowed in the 
Examination Hall. 

mlmt'i13~6lmcib: 

• m11D(31aifs crumwcnm1m 1'.W.!,06)£ll 15 aflm18 '03:,~oo 630nd' 6)6>So' ~srrsomJlco1d76).!,o. g:Q'tl 

cruaiCQJcnmu <3.!2.JOBj6muDcOOU ~cnmroo O{j)\9.!,<ID0<3mo, tilR6~ruco3aiow1 ~(/()CQJ 

o.Jlm1aiavo mscnmo<llmo nJOS1§!,. 

• ~®D.lcomecft> Offi'l'6a>Wm®1m ai6mJ {g!2...JOBjmBciD @BD:::>l'.W6©QJo ruoCQfld76)6ffio. 

8 O{j) ~ 0 <8.!2.J 0 GjmBuDcOO 6 o ~ wrID ruo o.g) ':9 6 ® 6ffi o. g)2 <ll r{q 6ffi af6 <ll.!2.J 0 mr m) l1l 0 l CID C8 Ql 

®(lffi6C1JB1c006£1:,W ~· 

e 63<0.!, <3.!2.JOBjffiffilID ~wrID<ll@ffi'l'6®0ci6 6l®ro@GW®SJ®Ol6 c&..t.#161\lTITTOco'O ~nJ <ll!2...J~X3j61lB~o 

®(l<S® <ll.!2.JOB(~ mffilco1mo m1mi' cm@rm 6l®C06'16nITIDS6<llc006T"@®osm. 

• · £J:,Gmc:OO' £J:,.4§e.J603:,cf6, .:ifll®6mcft>, l(f)OnD6cfhuD, n@rm1ru ~®1ilro <llo.J~o1co'Thmm@® 

~srrsomJlm1c00smo. 

9 ra@C1JCl1ljlll~ ffilOe.JcnrID ffi.)11lQJ0£1:,jmf3uD 6ld3:,0S6d76)6mo. 

e <8.!2.JOBj6ITT3uD Qle.JCQJOg}_wrID1e.J.!,o mcu'003:,1CQfi§66"rli. 

• <llli'.WO L(f)Offi6£J:,OO 6)!2...J ~omoc&..ocnm 03:,ocu'Oc006<lle.JA06cB:iuD 63':!'16)£J:,W6ffi 63ro6 

g:Qe.Jcfu<3lS06ID1cfu ~nJ£1:,(0611)QJ6o i'.Wffif cfl:,SjOn.DOglcu'O ~CLl <ll<WOCJJ1c006ruod6 o.JOS1~. 
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1. 'India's agriculture sector was 

stagnant during the colonial 

rule.' Do you agree with ·this 

statement? Substantiate. 

~- Write any two examples each for 

quantitative and qualitative 

(3) 

data. (2) 

a. 'Small scale industries plays a 

vital role m the economic 

development'. Write the 

advantages of small scale 

industries. 

4. Identify the variou·s favourable -

conditions prevailing in India 

which make outsourcing 

possible. 

5. Prepare a table which shows the 

differences between census 

survey and sample survey. 

&. The main sources of data are ..... 

a) Primary 

b) Secondary 

c) Both 'a' and 'b' 

d) none of these 
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<&crvo21ilc00.i,cm4<26'fl'SO? n1l~~ro,ru1c003.a.. ( 3) 

oJm1mo6IDO<llrm.a. C3m-©6lll3Citc0030 m6'fl'S" 

nJI ®o @_BOn.OC'O 6ID6lll300 n{j) ':!' i/iJ\l,d3:i · ( 2) 

auo ffiJ mm1 .a. nJ 6 <&coo m coli c~6) ru efl <ID 

nJ!B>06YTl" nJn.01.00l,CIDCID"". 6)!.lJ0l,cSo1S 

ruJ ru cru ow 6lll3 ~6 6'l s 

nti)'.l'JCl!l.lc6>. (3) 

5. 6'l au db cru cru" cru lb cs c:lJ w 6 a au o cru1 cm 

au/O C:<),I <ID Jo ®axll1 e.!J~ nJJCIDJOCTUo 

ce.06m1cOOJOTI SCOJ nJ§1.a, CID~OC"X).002,cSo. ( 3) 

6. GC!ITl!l6M3~6'ls LnJC.Uom ~on1lsmo6Tl1 ........ . 

a) LnJOLDallcSoo 

b) <3JC1rl1Wo 

c) 'a' w~,o 'b' w.io 

(1) 



'I. Critically evaluate the poverty 

alleviation programmes in 

India. (5) 

8. The frequency distribution with 

twq va:ri~bles are known as ...... 

a)' univariate distribution 

b) Bi-variate distribution 

c) Multivariate distribution 

d) None of these (1) 

~. Distinguish between a discrete 

a:-:d continuous variables. (2) 

io: Find the odd one out and justify 

your answer. 

a) UGC, NCERT; SCERT, 

NREGP 

b) Title, Captions, Stubs, Text 

c) Mode, Me.dian, quartiles, 

Percentiles 

d) Chemical fertilizers, HYV 

seeds, licensing, irrigation (4) 
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7. @mn~mil6'le.i Boai1tB~ m1&amoro~m 

n.lctl1nJOS1c&..@§ o.Jlai&C/'llmnJrol.llOmil 

C"iJleJmJ1Cll6(0)0)6d3J~ (5) 

(1) 

9, m>mll CID .!lJ © 6l5'B ruo <llliHrn®'l ®.!lJ <O 6m3 ru o 
Cl!Hl'lll1eJ6~ (l.J~CID~Om>o CIDOCO@l.ll~o 

6).!lJ~c&... (2) 

10. 63A6lCJ:l§CID16'l m an1ro1.g.101Grn"mu ®C>®16'l<B 

c&..Oro6TPo m~o<D1!c£hro1<00t,c&... 

a) UGC, NCERT, SCERT,. 

N~GP 

b) ®e.16'><00'.~f. cS:i~O <"Lf n!!:l <f& ' 
./ 

mmJ, 

6lAce;'rof. 

c) G!Ql OcW, ail ru$l m.><f&, CXcfhO&§<nJl m'&cro~ 

6'ln.1&6'lcru~W1 m'&m) 

d) mocroru§o, HYV nJ1 cm> Jc&.. cJO ' 

6l6'le.i~m516IB', ~eJGl<ru.!lJmo (4) 
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11. Name two major sources of 

human capital in a country. 

12. As per 2009-2010, the State in 

India incur the highest per 

capita expenditure on 

education is .................. . 

a) Kerala 

b) Punjab 

c) Himachal Pradesh 

d) Madhya Pradesh 

l 3'. Explain some measures taken 

by the government to improve 

agriculture marketing. 

l.A. Draw less than ogive and more 

than ogive for the data given 

below in a single diagram. 

Marks No. of students 

0-16 5 

10-20 12 

20-30 14 

30-40 10 

40-50 8 

K-936 
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mJn..l'l&.m6mcm>16>tVl rnsrrs" lnJWom 

@_0nJlS6lil3fil6lS '<3nJal <l{j)lj>6®c<S>. ( 2) 

ar@C:~Onnm1 nilBc)O@ciOCll.l 6>.!LleJQJ 

&>JSJ®e.1~ cruo@LOomo ............ .. 

a) e&&.m~o 

b) n.J6ml06l11 

c) odlaio!l..lm'D ln.JC:Bm" 

d) QlWc) tnJ<:lBC/I) 

14. <ID06l':!' 6lcmos3m<ll1.oc;:---n Bmm6lfB~arn 

crllcm30 6leJmJBO<il> 63~0J,J,O <!Ol:'.lroGOCTO 

(1) 

(5) 

6321iflru6o F»ro6 ruJ WloomID'lum rurnmic00,i,oe,. ( 5) 

mo&cfJ6l n!lBc)Offimo1&»fil6lS n{J)'mo 

0-10 5 

10-20 12 

20-30 14 

30-40 10 

40-50 8 



lo. Calculate arithmetic mean from 

the following data : 

Class Frequency · 1 

I 

0-10 6 
I 
' J ·- I 

10-20 8 ~ 
I 

20-30 I '" I L..: 
! 

30-40 8 I 
-~ ~ 

40---50 6 i 
I I I 
I 

1'6. The algebraic sum of deviatio1-:i­

c: =, ::0:: :::~ ,-e_h_~es from Arithmetic 

mean is ........ "" 

a) n 

b) 0 

c) l 

d) none of these 

1 7. . ......... di,·ides the series into two 

equal parts. 

K-936 
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(1) 

(1) 

5 

~om) CB'WOJ~corm1 

0-10 6 

10-20 8 

20-30 12 

30-40 8 

40-50 6 

16. airoro1com6)~81c&.i aiim1am m1cm" ill86~ 

illJ~j6ID3~1C~c:06>.J,~ 0Jj®jO<TU<lITT>1@~ 

a) n 

b) Ov' 

c) 1 

1 7. 63Cll6 <S~6T'rlJ6)CQ) ©GT'© ®6e.Jj @0(J)6m~pm.!l 

nll~l!TJlc.006cm® ................. <U'@GTI), 
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(1) 
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18. The following are the marks 

obtained for the class test of 10 

students in a class for Economics 

and History. 

Marks for Marks for 

Economics History 

50 35 

60 40 

25 21 

57 25 

72 29 

36 50 

68 62 

72 52 

30 65 

38 45 

a) Calculate the standard 

deviation. 

b) Compare the performance of 

students. 

1.9. Write three techniques for 

studying correlation. 

K-936 

(8) 

(3) 
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18. SC!ll, f.:JOCTUu nJ<1il~CQfl~ 10 

o..llB~o&mdl.fudOiOO' gQcOOCB6nX>l2l1&b'm51m.i,o 

n01cru"Ro1c0060 eil5'1.g,,j Cll::"Coo C0>06'll£' 

6'l~OS6cm>'lC!l1c006m1J. 

gQcOOCB6TTIOl1l1dbm51m c-..n1crJ°Ao1.oo" 

eil51~ mo&.oo' e.:@1-9.:1 a:;oc'OcOOV 

50 05 

60 40 

25 21 

57 25 

72 29 

36 50 

68 62 

72 52 

30 65 

38 45 

a) ~ociDcwc'Oru.f ruJl ru'1 Cl (l)) oS1 ciD 

c£b6Tl3 n.115l.oo.?,c£b. 

b) ru'ls~mmo1c£b§.66>S lnJc£bSmc 

®OC!ICIDQ\)o @.!lJ~d3:>. 

19. (TI)nD6YlJCTWo nJ01c006m1®1ffil,~ G.l~mi" 

aio&r&61!13d0 O{j)'e6®6c£b· 
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20. Distinguish between_ formal 

sector workers and informal 

sector workers. 

21. Write the conventional sources 

· and nonconv~ntional sources of 

energy. 

2.2. List any two Indian system of 

medicine. 

23. Define sustainable development. 

~t. 

Discuss the various strategies 

for sustainable development. 

When the coefficient of 

correlation r = 0, there is ........ 

a) positive correlation 

b) no correlation 

c) negative correlation 

d) none of these 

K·936 
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20. '63'0n.J.!lJoro1<B:i a:ai6'l.Je.J<DJ161e.i 6"JCID0':9leio~ 

c£h fil o mm m 'O n:J .!lJ o ro1 c£h a: m 6lJ e.i CQfl 6> ei 

6)@0':9le.Jo~c:e,§6o @om1e.i~ ClJ<l®dOm>o 

<OlO<ll®Ql~o 6).!lJ~cfh. ( Cl@@®!'lh1eJ6o 4 

('J~®<l0ffil6l!llY'6Clll6c:Eb ). 

22. ~mn<lmli6>ei C2@6'l®IB>1e.Jl,o m6TY!f lnJWom 
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(2) 

(3) 

a.Jl,e,1arrooroial1l<:B>6>~c006o1.gJ nfi)Y'6®6c:Eb. ( 1) 

23. rru.icmo1m Qflce,m>mo m1&C)J_ri.Hc003cBJ? 

m>2,0UD1ro 0.Jl&bm>mo ·a:ms.icrn@1m6~ 

oJl nJlw Cllllm1l6l5BW oJl U!l~ c:e,m1c006<B>. 

24. ''2<&.>0nfi)n.01~<l<!r{q0 _ 6"J&hoo11Zeictllcro 

r = 0 Cll®6l6m!B>1afii ........... 

a) an:Jom1l~nl' a:<B:ioo1a:ei dl:lcii> 

b) S«>c!, csc:e,odlae.i~m.io ~ 

c) 6lmmriiru a:c:e,oo1<!£?-!ctl:lcfb 

d) ~OJ61m!O(Tl)6rll~ 

(8) 

(1) 
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~5. Find the simple aggregative 

price index for the following 

selectE;d commodities. 

Pri_ce Price 
Commodities 

in 1991 cin 2001 

A 20 40 

B 50 60 

c 40 50 

D 20 30 

2'6. A consumer price index 

measures the changes in ........ . 

a) retail prices 

b) wholesale prices 

c) producer's prices 

d) None of these 

2.7. Classify the following features 

pertaining to the economies of 

India, ChiI?-a and Pakistan. 

(One child norm, very high 

fertility ratio, commune system, 

high density of population, 

economic reforms in 1988, 

economic reform"s in 1991). 

28'. List the steps towards making a 

project. 

K-936 
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25. ®06l':? 6lo6JOS6t1fl'ID1ro1c&6l.J,ffil 6l@0618nOlS6 

@'ll') n@®Om.10 ml0Wffi61IBfil6lS cm· :-ri~iG'Zi 

mm l w cr w Ai oJ 6)6)ln.Jffilv g)2cfbCWc£b0 % 0 

c£b6l'@nJls1c06l6c£b. (3) 

('[l)0Wm6ID3cili 1991-6le.J o.Jle.J 2001-6le.J o.Jle.J 

26. 

A 20 40 

B 50 60 

c 40 50 

D 20 30 

~n.Jcrrsoce:,~® oJle.J CTUJ.ollcfb ®()~,e£wm@ 

Cl@® o.HeJ CTUJ.'2.ilcmm~6le.J mopmosrrP 

a) .'2.il~o o.:le..:i"o~: 

b) 6lD.l0«TIID oJ1 e.J<.Ebcii\ 

c) @.~OBdh oJle.JcfbOO 

d) S:-:Cl.:€:·~)8::--:-:.'21 

(63R cm2,§1 m1®aio, g}C:.. ".Jrm ln.JCTUOJ 

m1roc&6l", W>tmlj~6'il er.:· :-:)o, ~wiOrm 

g:;immX:llffiClll, mxxn.J(ff(}.ce, nJro1nsfce,oroo 

1988-ro'O, rrJ2 r'.l.. :J'Cf& n.Jt1l1nS1°c£b0(1)0 

1991-ro'O) 

28. G>ro6 cr tnJ o~ro:," s" rs q~J o oo c£1€wur~ o on 

ffi) Jl ca, (l) 1 CT c&6l 6TYS er; S '1-.l s1 cB:i G:t efl ffi[ 

I 

(1) 

(3) 

(2) 


